P

T
(5

15 £

=
JIV’
=
uy

?E—I
hbe

¢_‘[4
=
1y






TS FEEET —RIFFMETE E35)

TS EEEETO—RIFFMETHE E35) 1T, KIZEDDLIAHITLD,

(AR HFHEDOHFIE)

1L BABHTEOMBEIIBABHENENS0, 000 THZEML., BABRHTEOKRE BABRHEENLENR
18, 544, 645THET 5,

2 RAREFREOMEDKEDOX R UNYHEXSZ L OB NICHELDRARBETROSH T, 1R RA
RHTFREME] X5,

ASFf54E11H6H #HE
BETE wBwoool #F



F1E BABHTEME
% A (A7 TH)
K T i IE mi T & %A i E T ®H ffiIE % T H
20 Hh N4 1, 250, 885 50, 000 1, 300, 885
1 At A4 1, 250, 885 50, 000 1, 300, 885
% A = 3 18, 494, 645 50, 000 18, 544, 645




(HA7 - TH)
K IH i OE BT T B O wMOE ¥ & % ffiIE % T H
7 R L% 1, 294, 345 50, 000 1, 344, 345
1 g2 1, 294, 345 50, 000 1, 344, 345
% = 3 18, 494, 645 50, 000 18, 544, 645







5 BH A







(B2 - TH)

P i E B o fi 1E %A B
1, 250, 885 50, 000 1, 300, 885
% = 3 18, 494, 645 50, 000 18, 544, 645

,5,




% (BN . TM)
i I P AR
fIERT O | M E A it i E T -
S e | R 4 z O o
1, 294, 345 50, 000 1, 344, 345 0 50, 000 0
% &) 18, 494, 645 50, 000 18, 544, 645 0 50, 000 0




1 e ANEe (BN 2 TH)
i
H fiIERT O E| M E #HE &t %y P B B
NN 1, 250, 885 50, 000 1,300, 885 1 H:4Hk A 50, 000} < 5D & LB IE A A4
&
3t 1, 250, 885 50, 000 1, 300, 885




3. it
() TR LA
(TH)  1ps L# (BAZ - FF)
O MioOE O o MOJHE N iR i
H fli 1E %#H ) K i 4] T e . B B
" AR me] s k| o m| MR RE ) e
2 P LIREL 263, 569 50, 000 313, 569 0 0 50, 000 0| 18 A4 50, 000 |4l Bh 4 B VA A4
g i Bh & A== % o v RS
[ SEfiak ek ek 50,000
4>
2 1, 294, 345 50, 000 1,344,345 0 0 50, 000 0




